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QUESTION 1

Given: 

1.

 interface A { } 

2.

 interface B { void b(); } 

3.

 interface C { public void c(); } 

4.

 abstract class D implements A,B,C { } 

5.

 class E extends D { 

6.

 void b() { } 

7.

 public void c() { } 

8.

 } 

Which is true? 

A. Compilation fails due to an error in line 6. 

B. The code compiles without error. 

C. Compilation fails due to an error in line 2. 

D. Compilation fails due to an error in line 4. 

E. Compilation fails due to an error in line 1. 

Correct Answer: A 

 

QUESTION 2

Given: 

1Z0-850 Study Guide | 1Z0-850 Exam Questions | 1Z0-850 Braindumps                                2 / 6

https://www.geekcert.com/1Z0-850.html
https://www.geekcert.com/1Z0-850.html
https://www.geekcert.com/1Z0-850.html


https://www.geekcert.com/1Z0-850.html
2021 Latest geekcert 1Z0-850 PDF and VCE dumps Download

1.

 class Test2 { 

2.

 static String setMessage(String str) { 

3.

 return str + "How are you doing?"; 

4.

 } 

5. 

6.

 public static void main(String[] args) { 

7.

 String str = "Hello! "; 

8.

 str = setMessage(str); 

9.

 System.out.println("str : " + str); 

10.

 } 

11.

 } 

What is the result? 

A. str : Hello! How are you doing? 

B. Compilation fails because of an error at line 7. 

C. Compilation fails because of an error at line 8. 

D. Compilation fails because of an error at line 2. 

E. Compilation fails because of an error at line 3. 

F. str : Hello! 

G. str : How are you doing? 
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Correct Answer: A 

 

QUESTION 3

Which two are true about the composition relationship "A Blip consists of many Blipverts."? (Choose two.) 

A. When a Blipvert is deleted, its Blip should also be deleted. 

B. A Blipvert must be part of at least one Blip. 

C. A Blipvert can be a part of only one Blip. 

D. A Blip must have at least two Blipverts. 

E. When a Blip is deleted, each of its Blipverts should also be deleted. 

Correct Answer: CE 

 

QUESTION 4

Which package contains classes used to create data collections, such as maps or queues? 

A. java.lang 

B. java.io 

C. java.awt 

D. java.net 

E. javax.swing 

F. java.util 

Correct Answer: F 

 

QUESTION 5

Given: 

1.

 abstract class A {} 

2.

 class B {} 

3.

 interface C {} 
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4.

 interface D {} 

5.

 // insert code here 

Which, inserted at line 5, results in a compilation failure? 

A. class E implements C {} 

B. class E extends A, B {} 

C. class E extends A {} 

D. class E implements C, D {} 

E. interface E extends C, D {} 

F. class E extends B implements D {} 

Correct Answer: B 
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